
1) 132/19 ÷ 253/4

Answer: ____________

2) Find area of 
rectangle having 
sides a = 9079 m 
and b = 4457 m

Answer: ____________

3) An amount was decreased by 4% to 
$360.00. Find the original amount.

Answer: ____________

4) 3/
8 ÷ 33

/14

Answer: ____________

5) 3/
8 ÷ 33

/14

Answer: ____________

6) Convert the following improper 
fraction 383/12 + 236/18 into a mixed 
number

Answer: ____________

7) Find the mode of the following set of data:

5, 5, 5, 5, 5, 21, 21, 21, 83, 83, 83, 
83, 34, 34

Answer: ____________

8) (9 x 19) - (5 x 25)

Answer: ____________

9) 12 x 1000

Answer: ____________

10) 19/17 + 36/6

Answer: ____________

Total: ___ / 10
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Answers:

1) 996/1957 2) 40465103m 3) $345.60 4) 7/44 5) 7/44 6) 617/12 7) 5

8) -151 9) 12000 10) 72/17
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